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केन्द्रीय विद्यालय संगठन, बेंगलुरु के्षत्र 
KENDRIYA VIDYALAYA SANGATHAN, BENGALURU REGION 

प्रथम प्री-बोर्ड परीक्षा -2024-2025 
FIRST PRE-BOARD EXAMINATION 2024-2025 

 

Class – XII                                                                                                            Maximum marks: 80  
Subject: Economics                                                                Time: 3 Hrs 

 

सामान्द्य ननरे्दश: 

1. इस प्रश्न पत्र में र्दो खंर् हैं: खंर् अ - समवि अथडशास्त्र - खंर् ब - भारतीय आनथडक विकास 
2. इस प्रश्न पत्र में 1 अंक के 20 बहुविकल्पीय प्रकार के प्रश्न हैं। 
3. इस प्रश्न में 3 अंकों के 4 लघु उत्तरीय प्रश्न हैं, जिनका उत्तर 60 से 80 शब्र्दों में रे्दना है। 
4. इस प्रश्न में 80 से 100 शब्र्दों में 4 अंकों के 6 लघु उत्तरीय प्रकार के प्रश्न हैं, जिनका उत्तर रे्दना है। 
5.इस पेपर में 6 अंकों के 4 र्दीघड उत्तरीय प्रश्न प्रकार के प्रश्न हैं, जिनका उत्तर 100 से 150 शब्र्दों में रे्दना है। 
 
GENERAL INSTRUCTIONS: 

1. This question paper contains two sections: Section A – Macro Economics & Section B – Indian 

Economic Development 

2. This paper contains 20 Multiple Choice Questions of 1 mark each. 

3. This paper contains 4 Short Answer I Questions of 3 marks each to be answered in 60 to 80 

words. 

4. This paper contains 6 Short Answer II Questions of 4 marks each to be answered in 80 to 100 

words. 

5. This paper contains 4 Long Answer Questions of 6 marks each to be answered in 100 to 150 

words. 
 

भाग अ-समवि अथडशास्त्र / SECTION- A Macro Economics 

1  
 
       +   + = 
 
 
 
उपरोक्त चार्ट के आधार पर निम्िनिखित प्रश्नों के उत्तर दीखिए - सही विकल्प चुनिए: 

a) सकि घरेिू पूूंिी निर्ाटण 
b) सकि घरेिू खथिर पूूंिी निर्ाटण 
c) पररयोििा का अूंनतर् उपभोग व्यय 
d) सरकार का अूंनतर् पूूंिीगत व्यय. 

1 
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On the basis of the above chart answer the following -Choose the correct alternative: 

a) Gross Domestic Capital formation  

b) Gross Domestic Fixed Capital formation 

c) Private Final Consumption Expenditure 

d) Government final capital expenditure. 

 

2 निम्िनिखित कििों को ध्यािपूिटक पढ़ें और िीच ेददए गए सही विकल्प का चयि कऱें: 
कथन 1: िाथतविक थर्ॉक ऱ्ें िाूंनित और अिाूंनित दोिों थर्ॉक शानर्ि हैं 
कथन 2: AS=AD होिे पर केिि अिाूंनित इन्ि़ेंट्री थर्ॉक शून्य होता है। 
विकल्प: 

a) किि 1 सत्य है और किि 2 गित है 
b) किि 1 ग़ित है और किि 2 सत्य है 
c) किि 1 और 2 दोिों सत्य हैं 
d) किि 1 और 2 दोिों गित हैं 

1 

 Read the following statements carefully and choose the correct alternative given below: 

Statement 1:  Actual stocks include both desired as well as undesired stock 

 

Statement 2: Only undesired inventory stocks are zero when AS=AD. 

Alternatives:  

a) Statement 1 is true and statement 2 is false.  

b) Statement 2 is true and statement 1 is false. 

c) Both the statements are true 

d) Both the statements are false 

 

3 यदद आय ऱ्ें िवृि उपभोग ऱ्ें िवृि के बराबर है, तो बचत की सीर्ाूंत प्रिवृत्त (एर्पीएस) 
का र्ूल्य ज्ञात कीखिए। 

a) एकता के बराबर  b) एक से बडा  c) एक से कर्  d) शून्य के बराबर 

1 

 If the increase in income is equal to increase in consumption, identify the value of marginal 

propensity to save (MPS). 

a) Equal to unity           b) Greater than one    c) Less than one            d) Equal to zero 

 

 

4 निम्िनिखित कििों, अनभकिि (A) और कारण (R) को पदढए। 
अनभकथन (A): बचत फिि का ढिाि हर्ेशा धिात्र्क होता है 
कारण (R): िब आय शून्य होती है तो उपभोग धिात्र्क होता है, उसी सीर्ा तक बचत 
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ऋणात्र्क होती है। 
िीच ेददए गए सही विकल्पों ऱ्ें से एक चुि़ें। 

a) अनभकिि (A) और कारण (R) दोिों सत्य हैं और कारण (R) अनभकिि (A) 
का सही थपष्टीकरण है। 

b) अनभकिि (A) और कारण (R) दोिों सत्य हैं, तिा कारण (R) अनभकिि (A) 
का सही थपष्टीकरण िहीूं है। 

c) अनभकिि (A) सत्य है, परन्तु कारण (R) असत्य है। 
d) अनभकिि (A) गित है िेदकि कारण (R) सत्य है। 

 Read the following statements, Assertion (A) and Reason (R) and choose one of the correct 

alternatives given below. 

Assertion (A): Slope of saving function is always positive. 

Reason (R): Saving is negative to the extent consumption is positive when income is zero. 

Alternatives:  

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A).  

b) Both Assertion (A) and Reason (R) are true, and Reason (R) is not the correct explanation 

of Assertion (A).  

c) Assertion (A) is true, but Reason (R) is false.  

d) Assertion (A) is false but Reason (R) is true. 

 

5 यदद दकसी देश की सरकार र्ुद्राथफीनत के अूंतर की खथिनत को कर् करिे की कोनशश कर 
रही है, तो निम्िनिखित को सही अिुक्रनर्क क्रर् ऱ्ें व्यिखथित कऱें 

i) प्रयोज्य आय ऱ्ें कर्ी 
ii) करों ऱ्ें िवृि 
iii) कुि र्ाूंग ऱ्ें कर्ी 

विकल्प: 
a) i , ii, iii    b) iii, ii, i      c) ii, iii, i    d) ii , i , iii 

1 

 Arrange the following in the correct sequential order, if the government of a nation. trying to 

curtail the situation of inflationary gap  

i) Decrease in disposable income 

ii) Increase in taxes 

iii) Decrease in Aggregate Demand 

Alternatives: 

a) i, ii, iii                  b) iii, ii, i                      c) ii , iii, i                       d) ii  , i  , iii 
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6  

 

 

 

 

 

 

 

 

 

 

 
उपरोक्त नचत्र के आधार पर खथिनत की पहचाि कऱें: 
a) रािकोषीय घार्ा    b) रािथि घार्ा    c) प्रािनर्क घार्ा    d) घारे् का बिर् 
 

On the basis of the above image, identify the situation: 

 

a) Fiscal Deficit            b) Revenue Deficit               c) Primary Deficit           d) Deficit Budget 

 

1 

7 सखससडी निम्िनिखित का उदाहरण है: 
a) रािथि व्यय  b) पूूंिीगत व्यय  c) योििा व्यय   d) गैर-योििा व्यय 

1 

 Subsidies are an example of:  

a) Revenue Expenditure     b) Capital expenditure   c) Plan expenditure   d) non-plan expenditure 

 

 

8 निम्िनिखित कििों को ध्यािपूिटक पढ़ें और िीच ेददए गए सही विकल्प का चयि कऱें: 
कथन 1: हर्ारा बिर् एक वित्तीय वििरण है िो एक वित्तीय िषट के दौराि सरकार की 
िाथतविक प्रानियाूं और व्यय दशाटता है। 
कथन 2: सरकार के बिर् के दो र्ुख्य घर्क हैं: रािथि बिर् और पूूंिीगत बिर् 
विकल्प: 

a) किि 1 सत्य है और किि 2 गित है  b) किि 1 ग़ित है और किि 2 सत्य है 
c) किि 1 और 2 दोिों सत्य हैं          d) किि 1 और 2 दोिों गित हैं 

1 

 Read the following statements carefully and choose the correct alternative given below: 

Statement 1: Government budget is as financial statement showing actual receipts and 

expenditure of the government. during a fiscal year. 

Statement 2: Two main components of government budget are: Revenue Budget and Capital 

Budget 

Alternatives:  

a) Statement 1 is true and statement 2 is false.   

b) Statement 2 is true and statement 1 is false. 

c) Both the statements are true                             

d) Both the statements are false 

 

Revenue 
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9 विदेशी र्ुद्रा की आपूनतट और विनिर्य दर के बीच सूंबूंध _______________ है (ररक्त 
थिाि भरिे के निए सही विकल्प चुि़ें) 

a) व्युत्क्रर्     b) प्रत्यक्ष     c) एक से एक     d) कोई सूंबूंध िहीूं 

1 

 The relationship between supply for foreign exchange and exchange rate is _______________ 

(Choose the correct option to fill up the blank) 

a) Inverse                    b) Direct                    c) One to one            d) No relationship 

 

10 a. भारत ऱ्ें खथित एक कूं पिी को विदेश ऱ्ें खथित एक कूं पिी से ऋण प्राि होता है। इस 
िेि-देि को भारत के भुगताि सूंतुिि िाते ऱ्ें कैसे दिट दकया िाता है? 

b. a) चािू िाते का के्रदडर् पक्ष        b) चािू िाते का डेवबर् पक्ष 
c. c) पूूंिी िाते का के्रदडर् पक्ष        d) पूूंिी िाते का डेवबर् पक्ष 

 

1 

 d. A company located in India receives a loan from a company abroad. How is this transaction 

recorded in India's Balance of payments account?  

e.  a) Credit side current account                b) Debit side of current account   

f. c) Credit side of Capital account             d) Debit side of capital account   

 

11 निम्िनिखित सरकारी प्रानियों को रािथि और पूूंिीगत प्रानियों ऱ्ें िगीकृत कऱें। अपिे उत्तर 
के निए कारण बताएँ- 
a) सािटिनिक क्षेत्र के उपक्रर्ों का िाभ। 
b) सािटिनिक क्षेत्र के उपक्रर्ों के शेयरों की वबक्री से प्रानियाूं। 

3 

 Categorize the following government receipts into revenue and capital receipts. Give reasons for 

your answer-  

a) Profits of Public Sector Undertakings. 

b) Receipts from sale of shares of Public Sector Undertakings. 

 

 

12 उदाहरणों का उपयोग करते हुए, विनभन्ि प्रकार के बाह्य प्रभािों को सूंक्षेप ऱ्ें सर्झाइए। 
अथिा 

उत्पाद विनध द्वारा राष्ट्रीय आय का अिुर्ाि िगाते सर्य ध्याि ऱ्ें रिी िािे िािी दकन्हीूं 
दो सािधानियों को बताइए और चचाट कीखिए । 
 

3 

 Using examples, briefly explain the various types of externalities.  

OR 

State and discuss any two precautions to be considered while estimating national income by product 

method.  

 

 

13 एक अिटव्यिथिा का बचत फिि S= - 200 + 0.25Y है, िब आय ₹ 2000 के बराबर 
होती है तो अिटव्यिथिा सूंतुिि ऱ्ें होती है , गणिा कीखिए। 

4 
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(i) आय के सूंतुिि थतर पर नििेश व्यय। 
(ii) थिायत्त उपभोग। 
(iii) नििेश गुणक। 

अथिा 
यदद दकसी अिटव्यिथिा ऱ्ें: प्रारूंनभक नििेश ऱ्ें पररितटि (ΔI) = ₹ 1,200 करोड। सीर्ाूंत 
बचत प्रिवृत्त (MPS) = 0.2। का र्ाि ज्ञात कऱें: 
(a) नििेश गुणक (K). 
(b) अूंनतर् आय ऱ्ें पररितटि (ΔY) 

 The Saving function of a economy is S= - 200 + 0.25Y, The economy is in equilibrium when 

income is equal to ₹ 2000, Calculate.  

(i) Investment expenditure at equilibrium level of income. 

(ii) Autonomous consumption. 

(iii) Investment multiplier. 

OR 

If in an economy: Change in initial investment (ΔI) = ₹ 1,200 crore. Marginal propensity to save 

(MPS) = 0.2. Find the values of: 

(a) Investment multiplier (K). 

(b) Change in final income (ΔΥ) 

 

14 नीचे दर्दए गए समाचार शीर्डक को पढें और नीचे दर्दए गए प्रश्न का उत्तर र्दें: 
"भारत के रक्षा र्ूंत्री राििाि नसूंह िे 7 ददसूंबर, 2022 को कहा दक प्रधािर्ूंत्री गनत शवक्त 
र्ाथर्र प्िाि पूिोत्तर क्षेत्र ऱ्ें बुनियादी ढाूंचा सुविधाओूं के विकास ऱ्ें एक बि गुणक के 
रूप ऱ्ें कायट करेगा।" 
स्रोत: economictimes.com., indiatimes.com 

a) नििेश गुणक से तात्पयट उस सूंख्या से है खिससे _________ ऱ्ें िवृि नििेश ऱ्ें 
िवृि से अनधक होती है। 

b) सूंख्यात्र्क उदाहरण की सहायता से गुणक की कायटप्रणािी सर्झाइए। 

4 

 Read the news headline given below and answer the question that follows: 

"India's Defence Minister Rajnath Singh on 7th December, 2022 said that the Pradhan Mantri Gati 

Shakti Master Plan would act as a force multiplier in developing infrastructural facilities in the 

northeast region." 

Source: economictimes.com., indiatimes.com 

a) Investment multiplier refers to the number of times by which the increase in 

_________exceeds the increase in investment. 

b) Explain the working of  multiplier with the help of a numerical example.  
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15  भारतीय रुपया अब तक के सबसे निचिे थतर पर पहुूंच गया और बुधिार को अर्ेररकी 
राष्ट्रपनत चुिाि के शुरुआती ितीिों िे अर्ेररकी डॉिर ऱ्ें तेिी िा दी, खिससे क़ें द्रीय बैंक 
को हथतक्षेप करिा पडा। रुपया र्ूंगििार के बूंद भाि से करीब 0.1% िीच ेनगरकर 
84.195 पर आ गया। (6 निंबर, रॉयटसड) 

a) घरेिू र्ुद्रा के सूंदभट ऱ्ें, दी गई ररपोर्ट के आधार पर खथिनत की पहचाि कऱें 
b) नियाटत पर इसके सूंभावित प्रभाि की व्याख्या कऱें। 

4 

 The Indian rupee weakened to an all-time low on Wednesday as  early results of the US 

Presidential election spurred a rally in the US Dollar, prompting the Central bank to intervene. The 

rupee fell to 84.195 against the dollar, down  about 0.1% from its Tuesday close.  (Nov. 6, 

Reuters.com) 

 

a) In context of domestic. currency, identify the situation on the basis of given report  

b) Explain its likely impact on exports. 

 

16 ननम्ननलजखत अंशों को ध्यानपूिडक पढें और ननम्ननलजखत प्रश्नों के उत्तर र्दें: 
अिुसूनचत िाखणखज्यक बैंकों के िकदी भूंडार पर आरबीआई द्वारा िारी दैनिक आूंकडों से पता 
चिा है दक 19 र्ई, 2023 को सर्ाि पििाडे से िेकर 19 अप्रैि, 2024 को सर्ाि पििाडे 
तक, बैंकों द्वारा रिी गई औसत पाखक्षक िकदी आिश्यकता स ेकर् होिे के 15 उदाहरण िे। 
र्ई 2021 तक के आूंकडों से पता चिता है दक कर्ी के िगभग 30 और र्ार्िे सार्ि े
आए हैं। कर्ी की र्ात्रा 19 र्ई, 2023 को सर्ाि पििाडे ऱ्ें ₹44 करोड से िेकर 11 अगथत, 
2023 को सर्ाि पििाडे ऱ्ें ₹6,820 करोड िैसी बडी रकर् तक िी। 
भारतीय ररज़िट बैंक अनधनियर्, 1934 की धारा 42 (1) के अिुसार, RBI अिुसूनचत 
िाखणखज्यक बैंकों के निए CRR निधाटररत करता है। ितटर्ाि ऱ्ें, CRR शुि र्ाूंग और सर्य 
देयताओूं का 4.50% है, िो िर्ा के निए एक प्रॉक्सी है। इसका र्तिब है दक बैंकों को 
वििेकपूणट उपाय के रूप ऱ्ें RBI के पास उस दहथसे को अिग रििा चादहए। CRR का 
उपयोग क़ें द्रीय बैंक द्वारा र्ौदद्रक िीनत को प्रभावित करि ेके निए भी दकया िा सकता है, 
क्योंदक आरखक्षत आिश्यकता ऱ्ें पररितटि का बैंदकूं ग प्रणािी की तरिता पर प्रभाि पडता 
है। 
सीआरआर और िैधानिक तरिता अिुपात पर आरबीआई के र्ाथर्र निदेश, खिस ेहाि ही ऱ्ें 
नसतूंबर 2023 ऱ्ें अद्यति दकया गया िा, ऱ्ें कहा गया है, "प्रत्येक अिुसूनचत बैंक भारत ऱ्ें 
ररििट बैंक के पास एक औसत दैनिक शेष बिाए रिेगा, खिसकी रानश दसूरे पूिटिती पििाडे 
के अूंनतर् शुक्रिार को भारत ऱ्ें बैंक के कुि एिडीर्ीएि (शुि र्ाूंग और सर्य देयताओूं) के 
4.50% से कर् िहीूं होगी।" 
(स्रोत: economictimes.com: 29 अप्रैल 2024) 

a) िकद आरखक्षत अिुपात से आप क्या सर्झते हैं? 

6 
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b) क़ें द्रीय बैंक र्ुद्राथफीनत के सर्य ऱ्ें र्ुद्रा आपूनतट को नियूंवत्रत करिे के निए र्ौदद्रक 
उपकरण के रूप ऱ्ें सीआरआर का उपयोग कैसे करता है? 

16 Read the following news excerpt carefully and answer the following questions: 

 

Daily data released by the RBI on scheduled commercial banks' cash reserves showed that from the 

fortnight ended May 19, 2023, to the fortnight ended April 19, 2024, there were 15 instances of the 

average fortnightly cash maintained by banks falling short of the requirement. 

 

Data going back to May 2021 showed around 30 more instances of a shortfall. The quantum of 

shortfall ranged from ₹44 crore in the fortnight ended May 19, 2023, to larger sums such as ₹6,820 

crore in the fortnight ended August 11, 2023. 

 

According to Section 42 (1) of the Reserve Bank of India Act, 1934, the RBI prescribes the CRR 

for scheduled commercial banks. Currently, the CRR is at 4.50% of net demand and time liabilities, 

which is a proxy for deposits. This means that banks must set aside that portion with the RBI as a 

prudential measure. The CRR can also be used to influence monetary policy by the central bank, as 

changes in the reserve requirement have an impact on banking system liquidity. 

 

"Every scheduled bank shall maintain in India with the Reserve Bank, an average daily balance, the 

amount of which shall not be less than 4.50% of the bank's total NDTL (net demand and time 

liabilities) in India as on the last Friday of the second preceding fortnight," said the RBI's Master 

Direction on CRR and Statutory Liquidity Ratio, which was most recently updated in September 

2023. 

(Source: economictimes.com: 29 April 2024)  

 

a) What do you understand by Cash Reserve Ratio? 

b) How does Central bank use CRR as a monetary tool to control money supply during times 

of inflation.  

 

17 A) नििेश और पूूंिी के बीच, कौि थर्ॉक और प्रिाह चर है? उदाहरण सदहत सर्झाइए। 
B) निम्िनिखित आँकडों से बािार र्ूल्य पर सकि र्ूल्य िधटि ( GVAmp ) की गणिा 
कऱें: 
 सामान ₹ लाख में 

(i) र्ूल्यह्रास 20 

(ii) घरेिू वबक्री 200 

(iii) थर्ॉक ऱ्ें बदिाि (-) 10 

(iv) नियाटत 10 

(v) एकि उपयोग उत्पादक सार्ाि 120 

6 
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(vi) शुि अप्रत्यक्ष कर 20 

 
अथिा 

a) पूूंिीगत िथतुओूं और उपभोक्ता िथतुओूं के बीच अूंतर बताइए। 
b) यदद िाथतविक िीडीपी ₹ 260 है और िार्र्ात्र िीडीपी ₹ 312 है। र्ूल्य सूचकाूंक 

की गणिा कऱें (आधार = 100) 
 a)  Investment and Capital, which of these is stock and flow variable ?Explain with an example. 

b )  Calculate the gross value added at market price (GVAMP) from the following data: 

 Items  ₹ in lakhs 

(i) Depreciation  20 

(ii) Domestic sales  200 

(iii) Change in stock  (-) 10 

(iv) Exports 10 

(v) Single use producer goods 120 

(vi) Net indirect taxes 20 

 

OR 

a) Differentiate between capital goods and consumer goods.  

b) If real GDP is ₹ 260  and nominal GDP is ₹ 312.Calculate price index (base =  100)  

 

भाग ब - भारतीय आनथडक विकास / Section -B Indian Economic Development 

 

18 औपनििेनशक काि के दौराि भारत की ििसाूंखख्यकीय खथिनत के बारे ऱ्ें गित किि की 
पहचाि कऱें। 

a) नशशु र्तृ्य ुदर बहुत अनधक िी। 
b) 1921 के बाद भारत ििसाूंखख्यकीय सूंक्रर्ण के दसूरे चरण ऱ्ें प्रिेश कर गया। 
c) िीिि प्रत्याशा बहुत अनधक िी। 
d) र्दहिा साक्षरता दर नसफट  7% िी। 

1 

 Identify the incorrect statement about the demographic condition of India during the Colonial 

period. 

a) Infant mortality rate was very high  

b) After 1921, India entered the second stage of demographic transition. 

c) Life expectancy was too high. 

d) Female literacy rate was just 7% 
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19 _________________कृवष उपि का िह दहथसा है िो दकसािों द्वारा अपिी थियूं की 
उपभोग आिश्यकताओूं को पूरा करि ेके बाद बािार ऱ्ें बेचा िाता है: 
a) व्यापार अनधशेष      b) विपणि योग्य अनधशेष    c) उत्पादक अनधशेष         
d) उपभोक्ता अनधशेष 

1 

 _________________is the portion of agricultural produce which is sold in the market by the 

farmers, after meeting their self- consumption requirements:  

a) Trade surplus          b) Marketable surplus     c) Producer surplus        d) Consumer surplus  

  

 

20 निम्िनिखित कििों को ध्यािपूिटक पढ़ें और िीच ेददए गए सही विकल्प का चयि कऱें: 
कथन 1: 1991 के आनिटक सुधारों िे सभी क्षेत्रों के निए एक साि विकास का र्ागट प्रशथत 
दकया।  
कथन 2: 1991 के आनिटक सुधारों िे कृवष क्षेत्र ऱ्ें तीव्र विकास दर सुनिखित की। 
विकल्प: 

a) किि 1 सत्य है और किि 2 गित है 
b) किि 1 ग़ित है और किि 2 सत्य है 
c) किि 1 और 2 दोिों सत्य हैं 
d) किि 1 और 2 दोिों गित हैं 

1 

 Read the following statements carefully and choose the correct alternative given below: 

Statement 1: Economic reforms of 1991 created a growth path for all sectors simultaneously. 

Statement 2: Economic  reforms of 1991 ensured accelerated growth rate in agriculture sector. 

Alternatives:  

a) Statement 1 is true and statement 2 is false.  

b) Statement 2 is true and statement 1 is false. 

c) Both the statements are true 

d) Both the statements are false 

 

21 _______________र्ािि को एक साध्य प्रानि के साधि के रूप ऱ्ें र्ािती है। 
a) भौनतक पूूंिी       b) वित्तीय पूूंिी      c) र्ािि पूूंिी     d ) थिायी पूूंिी 
 

1 

 _______________ treats human beings as a means to an end. 

a) Physical Capital             b) Financial Capital        c) Human Capital   d) Fixed Capital  

 

 

22 निम्िनिखित कििों को ध्यािपूिटक पढ़ें और िीच ेददए गए सही विकल्प का चयि कऱें: 
कथन 1: थियूं सहायता सर्ूह (एसएचिी) प्रत्येक सदथय से न्यूितर् योगदाि द्वारा िोरे् 
अिुपात ऱ्ें नर्तव्यनयता को बढािा देते हैं। 
कथन 2: एकवत्रत धि से िरूरतर्ूंद सदथयों को उनचत सयाि दरों पर िोर्ी दकथतों ऱ्ें 
चुकाि ेके निए ऋण ददया िाता है। 
विकल्प: 

1 
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a) किि 1 सत्य है और किि 2 गित है 
b) किि 1 ग़ित है और किि 2 सत्य है 
c) किि 1 और 2 दोिों सत्य हैं 
d) किि 1 और 2 दोिों गित हैं 

22 Read the following statements carefully and choose the correct alternative given below: 

Statement 1: The Self-Help Groups (SHG) promote thrift in small proportion by a minimum 

contribution from each member.  

Statement 2: From the pooled money, credit is given to the needy members to be repayable in small 

installments at reasonable interest rates. 

Alternatives:  

a) Statement 1 is true and statement 2 is false.  

b) Statement 2 is true and statement 1 is false. 

c) Both the statements are true 

d) Both the statements are false 

 

23 रति के पास ज़र्ीि है और िह साि ऱ्ें नसर्फट  2 र्फसि़ें उगाता है। िह 8-9 र्हीिे कार् 
करता है और साि के बाकी सर्य ऱ्ें बेरोज़गार रहता है। साि के बाकी सर्य ऱ्ें रति 
बेरोज़गारी का सार्िा करता है। 
िह दकस प्रकार की बेरोिगारी का सार्िा कर रहा है, इसकी पहचाि कऱें: 
a) प्रच्िन्ि         b) र्ौसर्ी           c) घषटण           d) चक्रीय 

1 

 Ratan the owner of land, grows only 2 crops in a year.  He works for 8-9 months and for the rest of 

the year he remains unemployed. In the remaining part of the year Ratan faces unemployment. 

Identify the type of unemployment he faces:  

a) Disguised           b) Seasonal        c) Frictional          d) Cyclical 

 

 

24 दकसािों द्वारा सूंकर्कािीि वबक्री से तात्पयट है: 
a) सडी फसि की वबक्री  
b) कर्ीशि एि़ेंर्ों के र्ाध्यर् से फसि की वबक्री 
c) सरकार द्वारा निधाटररत एर्एसपी पर फसि की वबक्री  
d) कर् कीर्त पर फसि की वबक्री 
 

1 

 Distress sale by the farmers refer to:  

a) Sale of rotten crop                                                    b) Sale of crop through commission agents 

c) sale of crop at the MSP fixed by the Government   d) Sale of crop at a low price 

 

 

25 निम्िनिखित कििों, अनभकिि (A) और कारण (R) को पदढए। 
अनभकथन (A): पयाटिरण िीिि नििाटह का अपिा कायट करिे ऱ्ें विफि रहता है। 
कारण (R ) : िब सूंसाधि निष्कषटण पुििटिि से कर् होता है, तो पयाटिरण की िहि 

1 
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क्षर्ता विफि हो िाती है। 
नीचे दर्दए गए सही विकल्पों में से एक चुनें। 

a) अनभकिि (A) और कारण (R) दोिों सत्य हैं और कारण (R) अनभकिि (A) 
का सही थपष्टीकरण है। 

b) अनभकिि (A) और कारण (R) दोिों सत्य हैं, तिा कारण (R) अनभकिि (A) 
का सही थपष्टीकरण िहीूं है। 

c) अनभकिि (A) सत्य है, परन्तु कारण (R) असत्य है। 
d) अनभकिि (A) गित है िेदकि कारण (R) सत्य है। 

 Read the following statements, Assertion (A) and Reason (R) and choose one of the correct 

alternatives given below. 

Assertion (A): Environment fails to perform its function of life sustenance. 

Reason (R) : When resource extraction is less  than regeneration ,the carrying  capacity of 

environment fails. 

Alternatives:  

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A).  

b) Both Assertion (A) and Reason (R) are true, and Reason (R) is not the correct explanation 

of Assertion (A).  

c) Assertion (A) is true, but Reason (R) is false.  

d) Assertion (A) is false but Reason (R) is true. 

 

26 निम्िनिखित ऱ्ें से कौि सा सूंगठि भारत ऱ्ें थिाथ्य क्षेत्र को नियूंवत्रत करता है 
a) यूिीसी      b) आईसीएर्आर c) एआईसीर्ीई     d) एिसीईआरर्ी  

1 

 Which of the following organization regulates the health sector in India 

a) UGC                    b) ICMR              c) AICTE                      d) NCERT 

 

27 उस देश की पहचाि कऱें खिसिे िषट 1988 ऱ्ें आनिटक सुधार शुरू दकए 
a) चीि        b) भारत      c) पादकथताि     d) बाूंग्िादेश 
 

1 

 Identify the country which introduced its economic reforms in the year 1988 

a) China                    b) India                   c) Pakistan                 d) Bangladesh 

 

 

28 क्या आपको िगता है दक सरकार की ििरत्न िीनत भारत ऱ्ें सािटिनिक उपक्रर्ों के प्रदशटि 
को बेहतर बिाि ेऱ्ें र्दद करेगी? कैसे? 

अथिा 
हररत क्राूंनत के िाभ कुि राज्यों तक ही सीनर्त िे। ददए गए किि का िैध तकों के साि 
बचाि या िूंडि कऱें। 

3 

 Do you think the Navratna policy of the government helps in improving the performance of PSUs 

in India? How? 

OR 
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“Benefits of green revolution were restricted to few states”. Defend or refute the given statement 

with valid arguments. 

 

29 चीि ऱ्ें ििसूंख्या िीनत और उसके पररणार्ी प्रभािों के आधार पर दी गई िवि की व्याख्या 
कऱें। 
Interpret the given image on account of population policy and resultant effects in China. 

 

  
 

3 

30 "र्ािि पूूंिी" और "र्ािि विकास" शसद एक िैसे िगत ेहैं, िेदकि उिके बीच थपष्ट अूंतर 
है। क्या आप सहर्त हैं? अपिे उत्तर को र्ान्य वबूंदओुूं के साि सर्िटि कऱें। 

4 

 The terms of “human capital” and “human development” sound similar but there is a clear 

distinction between them. Do you agree? Support your answer with valid points. 

 

 

31 a) कृवष विपणि को पररभावषत कऱें 
b) दर्काऊ आिीविका के निए कृवष विविधीकरण क्यों आिश्यक है? 

अथिा 
सतत विकास के निए कडी र्ेहित करिा हर्ारी िैनतक और सार्ाखिक खिम्र्ेदारी है? 
क्या आप सहर्त हैं? यदद हाँ, तो सतत विकास के उदे्दश्य को प्राि करिे के निए क्या 
दकया िािा चादहए? 
 

4 

 a) Define agricultural marketing. 

b) Why is agriculture diversification essential for sustainable livelihood?  

 

OR 

It is our moral and social responsibility to work hard for sustainable development. Do you agree? 

If yes, what should be done to achieve the objective of sustainable development?  

 

 

32 “ग्रीट लीप फॉरवर्ा अनियाि का र्हत्व इसके लक्ष्यों, पररणार्यों और चीि पर स्थायी प्रिाव के कारण था।” 

निए गए कथि के आलयक र्ें, जीएलएफ अनियाि की व्याख्या कीनजए। 

4 

 “The Greet Leap Forward campaign had its importance in its goals, outcomes and lasting impact 

on China”. In the light of the given statement, explain the GLF campaign. 
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33 ननम्ननलजखत केस स्टर्ी को ध्यानपूिडक पढें और नीचे दर्दए गए प्रश्नों के उत्तर र्दें। 
िोग आर्तौर पर अपिे िन्र् थिाि से भाििात्र्क रूप से िुडे होते हैं। िेदकि िािों िोग 
अपि ेिन्र् और नििास थिाि को िोड देते हैं। इसके कई कारण हो सकत ेहैं। इि कारणों 
को दो व्यापक श्रखेणयों ऱ्ें रिा िा सकता है, यािी पुश फैक्र्र, खिसके कारण िोग अपिे 
नििास थिाि या र्ूि थिाि को िोड देते हैं; और पुि फैक्र्र, िो अिग-अिग िगहों से 
िोगों को आकवषटत करते हैं। 
भारत ऱ्ें, िोग र्ुख्य रूप से गरीबी, भूनर् पर उच्च ििसूंख्या दबाि, थिाथ्य सेिा, नशक्षा 
आदद िैसी बुनियादी ढाूंचागत सुविधाओूं की कर्ी के कारण ग्रार्ीण क्षेत्रों स ेशहरी क्षेत्रों ऱ्ें 
पिायि करते हैं। इि कारकों के अिािा, बाढ, सूिा, चक्रिाती तूफाि, भूकूं प, सुिार्ी, युि 
और थिािीय सूंघषट िैसी प्राकृनतक आपदाएँ भी पिायि को बढािा देती हैं। दसूरी ओर, ऐस े
कई कारक हैं िो ग्रार्ीण क्षेत्रों से िोगों को शहरों की ओर आकवषटत करते हैं। शहरी क्षेत्रों ऱ्ें 
ग्रार्ीण प्रिानसयों के बहुर्त के निए सबसे र्हत्िपूणट आकषटण कारक बेहतर अिसर, नियनर्त 
कार् की उपिसधता और अपेक्षाकृत उच्च र्िदरूी है। नशक्षा के बेहतर अिसर, बेहतर थिाथ्य 
सुविधाएँ और र्िोरूंिि के स्रोत आदद भी काफी र्हत्िपूणट आकषटण कारक हैं। 
इसनिए, प्रिासि अूंतररक्ष ऱ्ें अिसरों के असर्ाि वितरण की प्रनतदक्रया है। िोग कर् अिसर 
और कर् सुरक्षा िािे थिाि से उच्च अिसर और बेहतर सुरक्षा िािे थिाि पर चिे िाते 
हैं। यह बदिे ऱ्ें, उि क्षेत्रों के निए िाभ और सर्थयाएँ दोिों पैदा करता है, िहाँ से िोग 
पिायि करते हैं और िहाँ िे िात ेहैं। आनिटक, सार्ाखिक, साूंथकृनतक, राििीनतक और 
ििसाूंखख्यकीय दृवष्ट से इसके पररणार् देि ेिा सकते हैं। 
(a) सर्झाइए दक भारत ऱ्ें िोग र्ुख्यतः ग्रार्ीण क्षेत्रों स ेशहरी क्षेत्रों की ओर क्यों 
पिायि करते हैं? 
(b) सर्झाइए दक प्रिास पर व्यय दकस प्रकार र्ािि पूूंिी निर्ाटण का एक स्रोत है? 

 

6 

 Read the following case study carefully and answer the questions that follow. 

 

People, generally are emotionally attached to their place of birth. But millions of people leave their 

places of birth and residence. There could be variety of reasons. These reasons can be put into two 

broad categories, i.e., push factor, these cause people to leave their place of residence or origin; and 

pull factors, which attract the people from different places. 

 

In India, people migrate from rural to urban areas mainly due to poverty, high population pressure 

on the land, lack of basic infrastructural facilities like healthcare, education, etc. Apart from these 

factors, natural disaster such as flood, drought, cyclonic storms, earthquake, tsunami, wars and local 

conflicts also give extra push to migrate. On the other hand, there are pull factors which attract 

people from rural areas to cities. The most important pull factor for majority of the rural migrants to 

urban areas is the better opportunities, availability of regular work and relatively higher wages. 

Better opportunities for education, better health facilities and sources of entertainment, etc., are also 

quite important pull factors. 
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Hence, migration is a response to the uneven distribution of opportunities over space. People tend 

to move from place of low opportunity and low safety to the place of higher opportunity and better 

safety. This, in turn, creates both benefits and problems for the areas, people migrate from and 

migrate to. Consequences can be observed in economic, social, cultural, political and demographic 

terms. 

 

(a) Explain, why in India people mainly migrate from rural to urban areas? 

(b) Explain, how expenditure on migration is a source of human capital formation? 

 

34 (a) भारतीय बािार के साि-साि विदेशी बािार ऱ्ें भी भारतीय हथतनशल्प की र्ाूंग को 
अूंग्रेिों िे व्यिखथित रूप से िष्ट कर ददया। ददए गए किि का िैध तकों के साि बचाि या 
िूंडि कऱें। 
(b) नियोिि उदे्दश्य के रूप ऱ्ें 'सर्ािता के साि विकास' की व्याख्या कीखिए। 

अथिा 
(i) भारत को अक्सर दनुिया का आउर्सोनसिंग हब कहा िाता है। कोई दो कारण बताइए। 
(ii) उदारीकरण की िीनत िे भारतीय ररििट बैंक की भूनर्का को वित्तीय के्षत्र ऱ्ें नियार्क 
से बदिकर “सुविधाकताट” बिा ददया। ददए गए किि का िैध तकों के साि बचाि या 
िूंडि कऱें। 
 

6 

 (a) Demand for Indian Handicrafts in Indian market as well as foreign market was systematically 

destroyed by Britishers. Defend or refute the given statement with valid arguments. 

(b) Explain' growth with equity' as a planning objective. 

 

OR 

 

(i) India is often called the outsourcing hub of the world. State any two reasons. 

(ii) The policy of Liberalization changed the role of Reserve Bank of India from a regulator to a 

facilitator in the financial sector. Defend or refute the given statement with valid arguments. 

 

 

********************** 

 


